

RAJGAD DNYANPEETH'S

RAJGAD INSTITUTE OF MANAGEMENT RESEARCH AND DEVELOPMENT

(Affiliated to the Savitribai Phule Pune University, Recognized by DTE Govt. of Maharashtra, Approved by AICTE, New Delhi



Mrs. Swarupa Thopte Hon. Secretary

Mr. Sangram Thopte Hon. Executive President MLA, Bhor, Velha, Mulshi Mr. Anantrao Thopte
Hon. Founder President
Ex - Education Minister

4.2.2. The institution has subscription for the following e-resources
1. e-journals 2. E-ShodhSindhu 3. Shodhganga membership 4. e-books 5.
Databases 6. Remote access to e-resources

4.2.3 Average annual expenditure for purchase of books/e-books and subscription to journals/e-journals during the year (2023-24) (INR in Lakhs)

Library Resources	If yes, details of memberships/subscrip tions	Expenditure on subscription to e-journals, e-books (INR in lakhs)	Expenditure on subscription to other e- resources (INR in lakhs)	Total Library Expenditure
Books	1924			36,552/-
Journals	12 Printed Journals (Yearly Subscription)			17350/-
e – journals	J Gate (Management Sciences)	58,366/-	-	58,366/-
e-books	EBSCO (eBooks)	98745/-		98745/-
Local and / or Remote access to e- resources (Specify)	Jaykar Library Membership			1,000/-
	Delnet Membership			13,570/-
	Total Expenditur	re		2,25,583/-



Dr. D. B. BHARATI

DIRECTOR

RAIGAD DNYANPEETHS

RAIGAD INSTITUTE OF MANAGEMENT

RESEARCH AND DEVELOPMENT

DHANKAWADI, PUNE – 411043

Journal list of 2023-24

S. No.	Title	Address	Cost	In favour of	Payable at
1	Bima Quest	Apex Subscription Ltd.	250.	Apex subscription	Mumbai
2	Harvard business Review	Head Office, 304, DE-Elmas Bldg, Sonawala Cross Road No.2	11,500	Pvt. Ltd.	
3	IUP journal of accounting research and audit practices	Goregaon E. Mumbai 400053 Tel: 09643 160 170 Email: infor@apexsubs.com	1,150		
4	IUP journal of case folio		1,150		
5	IUP journal of marketing management		1,150		
6	IUP journal of organizational behaviour		1,150.		
7	Management accoutant		1,000		
8	Bihar Journal of Public Administration	The Editor Dr. R.K. Verma, Shiva Path, New Purendrapur, Patana Emails: <u>iipabihar@gmail.com</u> Bjpa2004@gmail.com Mob: 9473431548,7762882579	3000	IIPA Bihar Regional Branch	Patna
9	Ramanujan International Journal of Business	G.G.Books & periodicals JN3-10-05, 1 st flr, sector 9, Vashi Navi Mumbai 400703 India	1800	G.G Books & Periodicals	Mumbai
10	Journal of Management and Entrepreneurship	Journal of Management & Entrepreneurship (JME) Xavier Institute of Management & Entrepreneurship (XIME) Electronic City, Phase II, Hosur Road, Banglore 560100 Mail: jme@xime.org,library@xime.org Mob: 8296905883	1500	Xavier Institute of Management & Entrepreneurship	Banglore



RAJGAD DNYANPEETH'S RAJGAD INSTITUTE OF MANAGEMENT RESEARCH AND DEVELOPMENT Affiliated to the Savitribai Phule Pune University, Recognized by DTE Govt. of Maharashtra, Approved by AICTE, New Delhi

B+

Mrs. Swarupa Thopte Hon. Secretary

Mr. Sangram Thopte Hon. Executive President MLA, Bhor, Velha, Mulshi

Mr. Anantrao Thopte Hon. Founder President Ex – Education Minister

Ref No. RD/RIMRD/2023-24/ 246

Date: 11/10/2023

			Pur	chase e	order	
Sone 4000 2 En With	x Subscription Pvt. Ltd36 awala Cross Road 2, Gore 063, India Board Line No nail:- pratiksha@apexsul n reference to your above supply of the following su	egaon E :- 9643 bscriptio	ast, Mu 16017 on.com	0 Ext -	Quote No: PI Quotation Dat Quotations ment	23/000352 e: 03/08/2023
Sr. No.	Description of Item	Unit	Qty.	Rate in		Value in (Rs.)
1.	Supply of National Journals as per approved list attached with this Purchase order	Total	7 No. of Journals			17,350/-
Tota	al Value of this P.O. is R	s. Seve	nteen t	thousand	d three hundred	d 17,350/-
Deli	ment: 1) 100% payment very Schedule : Within 4 very at our : RIMRD				ved Purchase or	der
Dr. 1	For RAJGAD INSTITU BAARA D. B. Bharati ECTOR	TE OF	MAN	AGEMI	ENT RESEAR	CH & DEVELOPMENT

RAJGAD DNYANPEETH'S

RAJGAD INSTITUTE OF MANAGEMENT RESEARCH AND DEVELOPMENT

Affiliated to the Savitribai Phule Pune University, Recognized by DTE Govt. of Maharashtra, Approved by AICTE, New Delhi



Mrs. Swarupa Thopte

Hon. Secretary

Mr. Sangram Thopte

Hon. Executive President MLA, Bhor, Velha, Mulshi Mr. Anantrao Thopte

Hon. Founder President Ex - Education Minister

Date: 28/06/2023

Ref No. RD/RIMRD/2023-24/19\

Purchase order

Piyush Ratankumar Prayal

Account Executive

RIMRD

EBSCO Information Services India Pvt. Ltd.

301-303, Ansal Chamber-II 6 Bhikaji Cama Place

New Delhi-110066, India (91-11)26198966/67/68(L) Department: Library

Quote No: E/23-24/W1/PI-027

Quotation Date: 10/05/2023

With reference to your above mentioned quotation we are pleased to give you this renewal for the supply of the following subject to the terms and conditions mentioned there in.

ne supply of the following subsection of Item	Unit	Qty.	Rate in Rs.	Value in (Rs.)
Description of Item No. EBSCOhost eBook			94,043	94,043
(Business Core Collection)	Daily via Internet (Inclusive GST 5%)			4,702/-
Total Value of this P.O. is I	Rs. Nin	nety eig	ht thousand seven	98,745/-

Payment:

1) 100% payment advance with P.O.

Delivery Schedule: Within 4to 6 weeks after received Purchase order

Delivery at our: RIMRD

For RAJGAD INSTITUTE OF MANAGEMENT RESEARCH & DEVELOPMENT

Rajgad Dnyanpeeth's Raigad Institute of Management Research and Development, Dhankawadi, Pune - 411 043

Onyanpee Dhankav PURE - 43

RAJGAD DNYANPEETH'S

RAJGAD INSTITUTE OF MANAGEMENT RESEARCH AND DEVELOPMENT

Affiliated to the Savitribai Phule Pune University, Recognized by DTE Govt. of Maharashtra, Approved by AICTE, New Delhi

Mrs. Swarupa Thopte
Hon. Secretary

Mr. Sangram Thopte Hon.Executive President MLA, Bhor, Velha, Mulshi Mr. Anantrao Thopte
Hon. Founder President
Ex - Education Minister

Date: 04/07/2023

Ref: RD/RIMRD/2023-24 / 19 2

Informatics Publishing Limited

194, R.V Road,

Basavanagudi

Bangalore - 560004

Sub: Supply of J-Gate e-Journal.

Dear Sir,

With reference to above, we are pleased to release our purchase order for supply of J-Gate e-journal against your IPL QTN-2023-24-00504 dated 26/05/2023 We accept your terms and conditions and agree to process payment as per payment terms in the quotation.

We herewith confirm that, our institute Rajgad Institute of Management Research & Development is recognized under Savitribai Phule Pune University. Copy of affiliation letter from University is enclosed herewith. We provide Degree Courses for Higher Education and GST is exempted as per Notification No. 2/2018-Central Tax (Rate).

Thanks & Regards,

For RAJGAD INSTITUTE OF MANAGEMENT RESEARCH & DEVELOPMENT

Dr. D. B. Bharati

DIRECTOR

encl: Copy of University affiliation





RAJGAD DNYANPEETH'S RAJGAD INSTITUTE OF MANAGEMENT RESEARCH AND DEVELOPMENT Affiliated to the Savitnia Phule Pune University, Recognized by DTE Govt. of Maharashtra, Approved by AICTE, New Delhi



Mrs. Swarupa Thopte Hon. Secretary

Mr. Sangram Thopte Hon. Executive President MLA, Bhor, Velha, Mulshi

Mr. Anantrao Thopte Hon. Founder President Ex – Education Minister

Date: 01/11/2023

Ref No. RD/RIMRD/2023-24/

Purchase order Department : Library To, PRADEEP BOOK DISTRIBUTORS. Office No. 102 -104, Shan Bramha Complex, No. 631/632, Budhwar Peth, Pune - 411002 Email: pbd0909@gmail.com Mob.: 9422087031 Quotation Date: 27-10-2023 per approved list attached with this purchase order (197 books) Total Value of this P.O. is Rs. Fifty six thousand nine hundred seventy nine rupees only.

Payment: 56,979/-Payment:

1) 100% payment advance with P.O.
2) Delivery Schedule: Within 4to 6 weeks after received Purchase order
Delivery at our: RIMRD For RAJGAD INSTITUTE OF MANAGEMENT RESEARCH & DEVELOPMENT

HBhont

Dr. D. B. Bharati DIRECTOR



Savitribai Phule Pune University Jayakar KRC

JKRC Card 2023-24

Name:

ID:

Course

Dept.

Book Limit

Validity

Rajgad Inst. of Manag.

IM-18020

Institutional Member

Bharati Devidas

Two Books

30/06/2024

JAYAKAR \ KRC יון עחום

& Rajendia, A. R.

I/C Director



RAJGAD DNYANPEETH'S RAJGAD INSTITUTE OF MANAGEMENT RESEARCH AND DEVELOPMENT Affiliated to the Savitribal Phule Pune University, Recognized by DTE Govt. of Maharashtra, Approved by AICTE, New Delhi

Mrs. Swarupa Thopte Hon. Secretary

Mr. Sangram Thopte Hon. Executive President MLA, Bhor, Velha, Mulshi

Mr. Anantrao Thopte Hon. Founder President Ex – Education Minister

B++

Ref No. RD/RIMRD/2023-24/245

Date: 11/10/2023

DEL			Pur	chase o	order	
New	NET Developing Librar Campus, Nelson Mande Delhi 110070	la Road	ork , Vasar	nt Kunj	Department : Libra Quote No: 2023/61	727
	reference to your above upply of the following su	mentio	ned que	otation v		
No.	Description of Item	Unit	Qty.	Rate ir	Rs.	Value in (Rs.)
1.	Delnet		e only Inclusiv	11,5		11,500/- 2070.00
sever	l Value of this P.O. Rs. ity rupees only.	is Thir	teen th	ousand	five hundred	13,570/-
Deliv	nent: 1) 100% payment very Schedule : Within 4 very at our : RIMRD				ved Purchase order	
1	for RAJGAD INSTITU	TE OF	MAN	AGEMI	ENT RESEARCH &	DEVELOPMENT
	Shamb D. B. Bharati ECTOR					

RAJGAD DNYANPEETH'S RAJGAD INSTITUTE OF MANAGEMENT RESEARCH AND DEVELOPMENT

(Affiliated to the Savitribai Phule Pune University, Recognized by DTE Govt. of Maharashtre, Approved By AICTE, New Delhit



Dr.(Mrs.) Bhagyashri Patil hon, Secretary

Date: 11/04/2022

Mr. Anantrao Thopte Hon. Founder President Ex - Education Minister

Ref No. RD/RIMRD/2021-22/71

The Editor , Dr. R.K. Verma, Shiva Path, New Purendrapur, Patna 800 001

e- mail: iipabihar@gmail.com.bjpa2004@gmail.com

Mob: 9473431548, 7762882579

Subject: Subscription of Bihar Journal of Public Administration

Dear Sir.

With reference to above cited subject, we would like to subscribe the journal of Bihar Journal of Public Administration (Bi-annual).

As per the application norms we have attached cheque as follows:-

Subscription fees: Rs. 3000/- (Three thousand rupees only) for three years

Details of the Cheque: 264026 Dated on: 01/04/2022

Name of: IIPA BIHAR REGIONAL BRANCH Bank name: Bank of Maharashtra

Please do the needful for the registration process and send the acknowledgement.

Thanking you.

Yours faithfully,

Dr. D. B. Bharati

Director

Indian Institute of Public Administration

Bihar Regional Branch

website <www.iipabiharbranch.org>

Dr Ravindra Kumar Verma

Hony. Secretary

Contact - e-mail <iipabihar@gmail.com>

Verma's Shiva Path, New Purendrapur Patna - 800 001

Mob: 7762882579, 9473431548

Ref. No. BJPA/Subs/2022-02

The Director

Rajgad Institute of Management Research & Development

Opp Dhankawadi Post Office, Dhankawadi

Pune - 411043 (Maharashtra)

Sub: Acknowledgement of receipt of the cheque valued Rs. 3000/- against subscription to Bihar Journal of Public Administration.

Sir, .

Greetings from IIPA, Bihar Regional Branch.

This is to acknowledge that a cheque of Bank of Maharashtra bearing no. 264026 valued Rs. 3000/- has been received by us against the subscription to Bihar Journal of Public Administration for two years (2022 & 2023).

The subscription is accepted with thanks.

Yours Sincerely,

(Ravindra Kumar Verma)

Hony Secretary, IIPA, Bihar Regional Branch

R. V. Veuf 6/2022

Editor, BJPA

RAJGAD DNYANPEETH'S RAJGAD INSTITUTE OF MANAGEMENT RESEARCH AND DEVELOPMENT

(Affiliated to the Savitribai Phule Pune University, Recognized by DTE Govt. of Maharashtra, Approved By AICTE, New Delhi.)



Dr.(Mrs.) Bhagyashri Patil Hon. Secretary

Date: 11/04/2022

Mr. Anantrao Thopte Hon. Founder President Ex - Education Minister

Ref No. RD/RIMRD/2021-22/ 70

The Deputy Publication Officer,
National Institute of Educational planning and Administration
17-B Sri Aurobindo Marg, New Delhi 11016
Email: niepapublication@niepa.ac.in
Tel: 91-11-26544875, 26544800

Subject: Subscription of Journal of Educational Planning and administration Journal

Dear Sir,

With reference to above cited subject, we would like to subscribe the Journal of Educational Planning and administration (Quarterly).

As per the application norms we have attached DD as follows:

Subscription fees: Rs. 350/- (Three hundred fifty rupees only) for one year.

Details of the DD: 219580

Dated on: 08/04/2022

In favour of: NIEPA

Payable at: New Delhi

Please do the needful for the registration process and send the acknowledgement.

Thanking you.

Otyanpeers &

Yours faithfully,

Dr. D. B. Bharat Director



RAJGAD DNYANPEETH'S RAJGAD INSTITUTE OF MANAGEMENT RESEARCH AND DEVELOPMENT

(Affiliated to the Savitribai Phule Pune University, Recognized by DTE Govt. of Maharashtra, Approved By AICTE, New Delhi.)



RIMRD

Ref No. RD/RIMRD/2019-20/78

Dr.(Mrs.) Bhagyashri Patil Hon. Secretary

Department: Library

Mr. Anantrao Thopte Hon. Founder President Ex - Education Minister

Date: 5/2/2020

Purchase order

Vendant Software Solution

925/A, Trikaya House, Deen Dayal Hospital Lane, Tukaram Paduka Chowk, F.C. Road, Pune: 411004

E-mail: - vedantsoftware@hotmail.com

Mob No.: 9422317222

As per our telephonic conversation dated 4/2/2020 we are pleased to give you this purchase order for the supply of the following Library Management Software subject to the terms and conditions

Sr. No.	Description of Item	Unit	Qty.	Rate in Rs.	Value in (Rs.)
1.	AutoLib NG Library	1 L	icense	90, 000	90,000
	Management Software with WEB-OPAC	(I)	nclusiv	e GST 18%)	
Cotal Paym	Value of this P.O. is R	s. Ninet	y Thou	sand rupees only.	90,000/-

1) After software installation 100% payment.

Delivery Schedule: Within 2 weeks after received Purchase order Delivery at our: RIMRD

For RAJGAD INSTITUTE OF MANAGEMENT RESEARCH & DEVELOPMENT

Dr. D. B. Bharati DIRECTOR

S. No. 32/2/12 16, Opp Dhankawadi Post Office, Dhankawadi Pune 411043 Phone No: 020-24362334, 24365306, 24370164, 24365783 Website: www.rimrd.org, Email Id: director@rimrd.org | enquiry@rimrd.org

RECEIPET

Date: 8th Sept 2022 Receipt No: AI/2209

Received with thanks from **The Director**, Rajgad Dnyanpeeth's **Rajgad Institute of Management**, **Research & Development** Opp. Dhankawadi Post Office, Satara- Pune Road, Dhankawadi, Pune-411043. The sum of Rupees **Thirteen Thousand Five Hundred Only**. By Cheque No. 371507 Drawn on Bank of Maharashtra, Parvati Branch Dated: 01/09/2022.

Rs. 13,500/-

For Akash Infotech

Authorised Signatory





RAJGAD DNYANPEETH'S

RAJGAD INSTITUTE OF MANAGEMENT RESEARCH AND DEVELOPMENT

Affiliated to the Savitribai Phule Pune University, Recognized by DTE Govt. of Maharashtra, Approved by AICTE, New Delhi



Mrs. Swarupa Thopte Hon. Secretary

Mr. Sangram Thopte Hon. Executive President MLA, Bhor, Velha, Mulshi

Mr. Anantrao Thopte Hon. Founder President Ex – Education Minister

Date: 11/10/2023

Ref No. RD/RIMRD/2023-24/ 246

Purchase order

Apex Subscription Pvt. Ltd304, De Elmas, Sonawala Cross Road 2, Goregaon East, Mumbai

400063, India Board Line No :- 9643160170 Ext –

2 Email:- pratiksha@apexsubscription.com

Department: Library

Quote No: PI 23/000352 Quotation Date: 03/08/2023

With reference to your above mentioned quotation we are pleased to give you this purchase for the supply of the following subject to the terms and conditions mentioned there in.

Sr. No.	Description of Item	Unit	Qty.	Rate in Rs.	Value in (Rs.)
1.	Supply of National Journals as per approved list attached with this Purchase order	Total	7 No.	of Journals	17,350/-
fifty	l Value of this P.O. is R rupees only.	s. Seve	nteen t	housand three hundred	17,350/-

Payment:

1) 100% payment advance with P.O.

Delivery Schedule: Within 4 to 6 weeks after received Purchase order

Delivery at our: RIMRD

For RAJGAD INSTITUTE OF MANAGEMENT RESEARCH & DEVELOPMENT

Dr. D. B. Bharati DIRECTOR

Receipt

Receipt No: 23/000624 Date: 04/10/2023

To,

The Principal -

Rajgad Dnyanpeeth's RAJGAD INSTITUTE OF MANAGEMENT RESEARCH &

DEVELOPMENT (RIMRD) - 2583 Survey No.32/2/12, Opp. Dhankawadi Post Office, Dhankawadi

Pune - 411043 Maharashtra - India

Subscription Pvt. Head Office

304, De-Elmas, Bldg, Sonawala Cross Road

No 2, Goregaon E, Mumbai - 400063,

Tel: 09643 160 170, Fax:,

Email: info@apexsubs.com,

director@rimrd.org, rimrdlib@rediffmail.com

Received with

Rajgad Dnyanpeeth's RAJGAD INSTITUTE OF MANAGEMENT RESEARCH & DEVELOPMENT

thanks from

(RIMRD)

Amount of Rs.

17,350.00

Amount in words

SEVENTEEN THOUSAND THREE HUNDRED FIFTY RUPEES

By NEFT/RTGS

UTR No: MAHBH23276084849

Transfer Date: 03/10/2023

Transferred From:

Bank of Maharashtra

Transferred To:

HDFC BANK

Payment For:

Subscription of Periodicals (Journals & Magazines)

Adjusted Against

Sr No	Ref. Type	Ref No	Invoice No	Invoice Date	Ref. Total Amt	Opening Amt	Adjusted Amt	Total Balance
1	INVOICE	23/000634	23/000352	04/10/2023	17,350.00	17,350.00	17,350.00	0.00
						17,350.00	17,350.00	0.00

CN Total Recived Amt 17,350.00 **Balance Amt** 0.00

Remark **HDFC**

Accountant / Requested By

For Apex Subscription Pvt. Ltd



Authorized Signatory

PRADEEP BOOK DISTRIBUTORS

Computer Book Shopee

Dealers: Computer, Medical, Engineering & Management Books Shop no. 102/3, 1st Floor, Shan Bramha Complex, Budhwar Peth, Pune-411002

Ph: 020-24458333 Fax: 24458666 Email: pbd0909@gmail.com

HSN CODE: 49010101

RECEIPT

Date: 08/01/2024

Received with thanks from	Principal, Rajgad	Institute of Management Research & [Development, Pune
Opp. Dhankawadi Post Office, Satar	ra- Pune Road - Pune		
a Sum of Rupees	Thirty Six Thousand	Five Hundred Fifty Two Only	
in Full /Part Payment agains	t Bill No	Amount agnst Bill No. IN498 (BOI)	
by Cash/M.O./Cheque*/D.D.No	393302		
Rs. <u>36,552.00</u>			For PRADEEP BOOK DISTRIBUTORS

*Subject To realisation

No.

RB255

Signature



PRADEEP BOOK DISTRIBUTORS

Computer Book Shopee

Dealers : Computer, Medical, Engineering & Management Books Shop no. 102/3, 1st Floor, Shan Bramha Complex, Budhwar Peth, Pune-411002

Ph: 020-24458333 Fax: 24458666 Email: pbd0909@gmail.com

INVOICE INVOICE No.:- IN498

Principal, Rajgad Institute of Management Research & Development, Pune

Opp. Dhankawadi Post Office, Satara- Pune Road

Pune 411043

Consignee :

Order No. PO. No.

O. No.

Date 24-Nov-2023

Date

24-Nov-2023

Delivery by

G.R.No Date 24-Nov-2023

Doc. through
Credit Days 0
Bundles 0

G.O.C. Rate as applicable from.....November 2023

Rs - 1.00

S.No.	9788121943017	Author Gupta	TITLE	Pub	QTY.	CUR	DDIOE ()	00000		44401111
		Gunta			٠٠٠٠	COK	PRICE (`)	GROSS	DIS(%)	AMOUNT
	N14900	Gupta	A Textbook of Organisational Behaviour	S.Chand	1	Rs	295.00	295.00	20.00	236.00
2	N4800	Thorat	Advanced Financial Management	Nirali	10	Rs	290.00	2900.00	15.00	2465.00
3	9788194786719	Bhavsar	Advanced Statistical Methods Using R	TechKnowl edge	2	Rs	375.00	750.00	15.00	637.50
4	N4794	Pawgi	Basic Business Analytics Using R	Nirali	5	Rs	185.00	925.00	15.00	786.25
5	N4795	Sinha	Compettency Based Human Resource Management	Nirali	2	Rs	290.00	580.00	15.00	493.00
6	9788121922142	Bhatt	Consumer Behaviour in Indian Context	S.Chand	1	Rs	345.00	345.00	20.00	276.00
7	N6362	Sinha	Corporate Governance	Nirali	5	Rs	250.00	1250.00	15.00	1062.50
8	N5184	Thite	Current Trends & Cases in Finance	Nirali	5	Rs	260.00	1300.00	15.00	1105.00
9	N5186	Ahire	Current Trends & Cases in Human Resource Management	Nirali	5	Rs	240.00	1200.00	15.00	1020.00
10	N5872	Meher	Data Maining & Data Science	Nirali	5	Rs	250.00	1250.00	15.00	1062.50
11	9789355632388	Deshpande	Data Mining Sem VII Electronics And Telecommunication Engineering	TechKnowl edge	2	Rs	355.00	710.00	15.00	603.50
12	N4797	Chitale	Decision Science	Nirali	10	Rs	550.00	5500.00	15.00	4675.00
13	N4776	Kamat	Digital Buisness	Nirali	5	Rs	300.00	1500.00	15.00	1275.00
14	N4780	Sabooni	Employee Relations & Labour Legislations	Nirali	2	Rs	200.00	400.00	15.00	340.00
15	9788121918015	Khanka	Entrepreneurial Development	S.Chand	2	Rs	725.00	1450.00	20.00	1160.00
16	9789352718757	Prakash Yaragol	Financial Derivatives: Text & Cases	Vikas	2	Rs	495.00	990.00	20.00	792.00
17	N4786	Patil	Financial Markets & Banking Operations	Nirali	5	Rs	210.00	1050.00	15.00	892.50
18	9789353387075	Amit Singhal	Fundamentals of Financial Management	Vikas	3	Rs	495.00	1485.00	20.00	1188.00
19	N4766	Gorde	Geopolitics & World Economic Systems	Nirali	1	Rs	170.00	170.00	15.00	144.50
20	9780230327740	Lasserre	Global Strategic Management 2Ed.	Palgrave / Mac	1	Rs	695.00	695.00	10.00	625.50
21	N5176	Sinha	Global Strategic Management -IV	Nirali	5	Rs	290.00	1450.00	15.00	1232.50
22	N4803	Parker	HR Operations	Nirali	2	Rs	255.00	510.00	15.00	433.50
23	9789352534357	Khanka	Human Resource Management	S.Chand	1	Rs	795.00	795.00	20.00	636.00
24	N4801	Sinha	International Finanace	Nirali	5	Rs	300.00	1500.00	15.00	1275.00

Total Carried Forward 87 24,416.75

			Total Broght Forward		87					24,416.75
S.No.	BOOK CODE	Author	TITLE	Pub	QTY.	CUR	PRICE (`)	GROSS	DIS(%)	AMOUNT
25	N6357	Prasad	Knowledge Management	Nirali	10	Rs	135.00	1350.00	15.00	1147.50
26	9788194786771	Gupta	Machine Learning and cognitive intelligene Using Python SEM III	TechKnowl edge	2	Rs	235.00	470.00	15.00	399.50
27	N5809	Oturkar	Management of Corporate Social Responsibility	Nirali	5	Rs	145.00	725.00	15.00	616.25
28	N4778	Patankar	Managerial Accounting	Nirali	2	Rs	240.00	480.00	15.00	408.00
29	N5189	Kamat	Marketing 4.0	Nirali	5	Rs	170.00	850.00	15.00	722.50
30	N5810	Shaikh	Marketing Environment Analysis & Strategies	Nirali	5	Rs	215.00	1075.00	15.00	913.75
31	9789325982406	Kumar Arun & Meenakshi N.	Marketing Management, 3rd Edition	Vikas	1	Rs	725.00	725.00	20.00	580.00
32	9788121920148	Khanka	Organisational Behaviour.	S.Chand	1	Rs	650.00	650.00	20.00	520.00
33	9789325986695	Kavita Singh	Organizational Behaviour: Text and Cases, 3rd Edition	Vikas	1	Rs	650.00	650.00	20.00	520.00
34	N4785	Sinha	Personal Financial Planning	Nirali	5	Rs	375.00	1875.00	15.00	1593.75
35	N4790	Salve	Qualitative Research Methods	Nirali	10	Rs	100.00	1000.00	15.00	850.00
36	9789325994065	Singh	Sales and Distribution Management	Vikas	2	Rs	625.00	1250.00	20.00	1000.00
37	9789354534836	Subrata Mukherjee	Security Analysis and Portfolio Management	Vikas	2	Rs	895.00	1790.00	20.00	1432.00
38	N4807	Sinha	Service Operations Management - I	Nirali	2	Rs	260.00	520.00	15.00	442.00
39	N4806	Sinha	Services Operations Management	Nirali	2	Rs	245.00	490.00	15.00	416.50
40	N2111	G	Strategic Human Pesource Managment	Nirali	5	Rs	135.00	675.00	15.00	573.75
			Total No. Of Boo	oks =	147		Total =	43,575.00	7,022.75	36,552.25
Rupee	es: Rs. Thirty Six	Thousand Five	Hundred Fifty Two Only				Postage/Frei		,	0.00
•	Balance: DR 36,555						Less Adv./Ad			0.00
								/		

E. & O. E.

Terms And Condition

HSN CODE: 49010101

NET TOTAL (`) 36,552.00
For PRADEEP BOOK DISTRIBUTORS

- 1.Cheque/DD should be issued on PRADEEP BOOK DISTRIBUTORS, paid within 15 days from the bill issued
- 2.BOI A/C No:050620110000344 (IFSC: BKID0000506) / HDFC A/C No:04272560005434 (IFSC: HDFC0000427)
- $3. \\ Books \ supplied \ are \ in \ accordance \ with \ the \ order \ hence \ cannot \ be \ returned \ nor \ exchanged.$
- 4. Educational Books are exempted from GST.
- 5. The prices charged are correct and in accordance with the publishers catalogues and /or latest pri
- 6.As this is the computer generated bill, it does NOT require actual signature.

Vaijayanti

Prepared By Checked By Page No. Page 2 of 2 Authorised Signatory



EBSCO International Inc.

5724, Highway 280 East, Brimingham Alabama -35242 USA

E/23-24/	422			Date	10-Jul-23
Received with thanks from	Rajgad Dnyanpeet				
Sum of	Rupees NinetyEigh	nt Thousand Seven H	lundred Fourty	Five Only	
By Cash/WireTrf/DD/Cheque*	No.	Wire Trf	Dated	<u>3-Jul-23</u>	
Drawn on	-				
Towards Subscription of	EBOOK BUSINESSCO	ORE COLLECTION			
For the Period		<u>1-Feb-23</u>	То	<u>30-Jan-24</u>	
INR * Subject to realization in Bank	<u>98,745.00</u>		EBSCO International Property of the Party of	For EBSCO Polerna	tional Inc.



TAX INVOICE

ORIGINAL FOR RECIPIENT

EDOCO INCIDENCE									
Details of Supplie	Details of Supplier								
GSTIN	9917USA29012OSE								
Name	EBSCO INTERNATIONAL INC.								
Address	5724, Highway 280 East, Birmingham								
State	Alabama								
Country	United States of America								
Zip Code	35242								
S.no. of Invoice	E/23-24/Jul-003								
Date of Invoice	05 July 2023								
PAN Number	AACCE-3535-D								

Details of Receiver (Bill	Details of Receiver (Billed to)						
Name	Rajgad Institute of Management, Research & Development						
Address	Opp. Dhankawadi Post Office,Satara Road, Dhankawadi,						
State	Maharashtra						
State code	411043						
PAN	AAATR1409G						
GSTIN (Unique ID)	NA						
Place of supply	Pune, Maharashtra						
PO Number / Reference	NA						
PO Date / Reference Date	NA						

Sr. No.	Description of Goods/Services	Subscription Period	HSN/Service Accounting code	Qty	GST Rate	Currency Exchange Rate	Total (USD \$)	Total (INR)
1	EBOOK BUSINESSCORE COLLECTION	Feb 2023 - Jan 2024	998431	1	5%	85.30	\$ 1,102.50	₹ 94,043
		SUB TOTAL					\$ 1,102.50	₹ 94,043

	USD Value	INR Value(R/o)
Discount Rate	\$0.00	₹0
Taxable Value	\$1,102.50	₹ 94,043
Add: IGST @ 18% (Refer Point No. 9 of Terms & Conditions)	\$0.00	₹0
Add: IGST @ 5% (Refer Point No. 9 of Terms & Conditions)	\$55.13	₹ 4,702.58
TOTAL INVOICE VALUE (In figure)	\$1,157.63	₹ 98,745

Total Invoice Value (In Words)

Ninety Eight Thousand Seven Hundred Forty Five Rupees Only

Applicable to Reverse Charge: NO

	USD	INR
Total Tax Payable under Reverse		
Charge (To be Paid by the Institution	NIL	NIL
directly to GOI)		

	USD		INR
Total Payable Invoice Value (To be Paid by the Institution to EBSCO)	\$ 1,157.63	₹	98,745.16

TERMS & CONDITIONS

- In case any of the customer desires to deduct tax at source, the same must be deducted under section 195 of the Income-tax Act in the name of EBSCO International Incorporated PAN-AACCE-3535-D.
- 2 PURCHASE ORDER (PO) MUST BE IN THE NAME OF EBSCO INTERNATIONAL INCORPORATED (IF APPLICABLE)
- 3 Please pay amount in advance and there should be no partial payments.
- 4 Bank Exchange rate:- GOC (Good Office Committee) exchange rate applicable
- 5 Terms: Net due upon receipt of invoice EBSCO guarantees payment to all publishers.
- 6 This Price is valid for 21 days from the date of Tax Invoice
- 7 Shipment is made directly from overseas supplier.
- 8 EBSCO Information Services India Private Ltd is an independent entity and its role is limited to marketing and coordination for the distribution and delivery of the worldwide publications offered by EBSCO International Inc. in India.
- We have been made to understand that, your entity qualify as 'non-taxable online recipient' under Section 2(16) of IGST Act. Accordingly, GST under forward charge will be payable by us i.e. EBSCO International Inc. However, please note that you being a 'non-taxable online recipient' would not be able to claim ITC (tax credit) of such GST collected from you and paid to government. Further, in case, at a later stage, we are informed that ,your entity does not qualify as 'non-taxable online recipient', the GST paid by us to the government under forward charge would not be refunded.

BANK DETAILS

INDIAN RUPEE WIRE TRANSFERS CAN BE SENT TO Account Name : EBSCO International Inc.

BANK NAME: Deutsche Bank IFS CODE: DEUT0796DEL ACCOUNT NO.: 1566934000

BANK ADDRESS : Deutsche Bank AG, Filiale New Delhi Global Business Services, 18-20, 14th Floor HT House K G Marg, 110 001, New Delhi US DOLLARS TRANSFERS CAN BE SENT TO

Account Name: EBSCO International Inc. 5724, Highway 280 East, Birmingham, Alabama,

United States of America -35242 SWIFT CODE: WFBIUS6S

ABA: 121000248

ACCOUNT NO.: 2000027338795

Bank Name & Address : Wells Fargo Bank, San Francisco, CA USA



Developing Library Network

J.N.U. Campus, Nelson Mandela Road Vasant Kunj, New Delhi 11.0070, India Tel: 91-11-26742222, 26741266 91-9810329992 (Mobile) E-mail: sangs@delnet.ren.nic.in, sangskaul2003@yahoo.co.in Web: www.delnet.in

October 12, 2023



DELNET/IM-7449/mhRIMRD/MEM/2023

Sub: DELNET Membership Renewal

Dear Ms. Gaikwad,

We acknowledge with thanks the receipt of ₹ 13,570 (₹ Thirteen Thousand Five Hundred Seventy only) received through NEFT dated 3.10.2023 made towards the DELNET Annual Institutional Membership Fee for the period 26.12.2023 to 25.12.2024. The receipt no. 76849 dated 12.10.2023 is enclosed for the office records.

You are requested to access DELNET databases through the World Wide Web using the following procedure:

Web Address: http://www.delnet.in

Kindly click onto "New Discovery Portal". Since the IP address provided by you is registered with us, you should be able to open the landing page without login prompt. Please let us know if you encounter any difficulty.

We are also glad to provide the following login & password for accessing DELNET remote:

Login : mhrimrd Password : rim7449

Kindly note your Inter Library Loan (ILL for Books) Password is "mhrimrdlib" to be used while registering a request. You are also welcome to send us the bibliographical references at sangskaul2003@yahoo.co.in for the resources needed by you. We will try our best to locate these resources. We would like to inform you that DELNET has launched WEBVIEW Youtube channel which contains a large number of video recordings of Webinars organised by DELNET including sessions on DELNET resources and services. The link is available at the Discovery Portal. We would further like to inform you that Usage Report can be generated through "USAGE STATISTICS" link which appears at the top side of the landing page of the discovery portal. Kindly use the password as 7449***1992 to download the pdf, containing usage report of your institution.

I would like to mention that DELNET provides access to more than 3.8 crore catalogue records of books, journals, articles, etc. through Discovery Portal and also more than one crore and fifty lakh full-text e-books, e-journals & e-articles through *Knowledge Gainer Portal*. We are pleased to inform you that DELNET has also recently launched ViSiOn Portal which contains Video Recordings of Lectures on varied subjects. We request you to kindly contribute the video lectures of the Faculty Members of your Institution. Kindly contact us for further assistance. DELNET also provides Delplus software free of charge for library automation purpose. DELNET Guest House facility at New Delhi can also be availed by member-libraries on payment basis. Also, we are pleased to inform you that DELNET has developed DELDReSS Portal exclusively for Schools, which is of great relevance to the School students, teachers and administrators.

We would also like to mention that DELNET offers DrillBit software for plagiarism detection for an annual subscription of Rs 48,000 (inclusive of GST) for 300 documents checking.

I would also like to inform you that DELNET shall be glad to organise a one hour webinar on DELNET Networked Resources and Services at a mutually convenient date and time for the students, faculty, researchers and scholars of "Rajgad Institute of Management Research & Development, Pune, Maharashtra". It will help in the effective utilisation of DELNET resources and services

I am enclosing a poster on DELNET and a Certificate of Membership. Please kindly let us know if you wish to get any books on ILL or the journal articles.

With kind regards,

Yours sincerely,

Sangeeta Kaul

Ms. Shreya Shridatta Gaikwad Librarian **Rajgad Institute of Management Research & Development** Opp. To Dhankawadi Post Office, Dhankawadi, Pune-411043 Maharashtra

Encl: (1) Receipt no. 76849 dated 12.10.2023 of ₹ 13,570

(2) Tax Invoice

(3) DELNET Poster

(4) Certificate of Membership



Informatics Publishing Limited

No. 194, R.V. Road, Basavanagudi,

Bangalore - 560 004, India

Tel: +91-80-40387777 | Fax: +91-80-40387600

CIN: U72200KA2006PLC040165 / GSTIN : 29AACCT4896Q1Z8 MSME/UDYAM : UDYAM-KR-03-0179417/ PAN : AACCT4896Q

www.informaticsglobal.com

BILL OF SUPPLY

Invoice No: BS23-24-0332	Invoice Date: 02-08-2023
PO No : RD/RIMRD/2023-24/192	PO Date: 04-07-2022
SO No : IPL-SO-2024-00747	SO Date: 02-08-2023
Place of Supply: 27-Maharashtra	Payment Terms: Received
Customer Name : Rajgad Institute of Management Research and	Customer Name : Rajgad Institute of Management Research and
Development	Development
Billing Address :S No 32/2/12 to 16	Shipping Address: S No 32/2/12 to 16
Opp. Dhankawadi Post Office, Satara- Pune Road	Opp. Dhankawadi Post Office, Satara- Pune Road
Pune	Pune
Maharashtra, State Code: 27	Maharashtra, State Code: 27
PIN: 411043	PIN: 411043
India	India
Email: director@rimrd.com	Email: director@rimrd.com
GSTIN: URD	GSTIN: URD

Sr	ltem	Description	HSN	Quantity	Rate	Amount
1	JSSH J-Gate Social Science and Humanities	J-Gate Social Science and Humanities 8th August 2023 To 7th August 2024	998431	Nos 1.0	₹ 58,366.00	₹ 58,366.00
	Total			1.0		58,366.00

Total

₹ 58,366.00

Grand Total

₹ 58,366.00

In Words: INR Fifty Eight Thousand, Three Hundred And Sixty Six only.

Bank Details:

A/c Name: Informatics Publishing Ltd, Bank & Branch: Canara Bank, South End Road Branch, Bangalore, A/c Number: 1173257000988, IFSC Code: CNRB0001173.

GST exemption:

Subscription to the J-Gate by educational institution is eligible for GST exemption under sub-item (v) of item (b) of Serial No. 66 of Notification No. 12/2017-Central Tax (Rate), dated 28-6-2017 as amended by Notification No. 2/2018-Central Tax (Rate), dated 25-1-2018.

Payment Details: 03-07-2023 - NEFT Cr-MAHBH23184390643-MAHB0000315-RAJGAD DNYANPEETH S R I M R D - Rs. 58,366/-



Declaration

We declare that this invoice shows the actual and that all particulars are true and correct.

Disclaimer: The above We declare that this invoice shows the actual price of the goods described



Authorized Signatory



Disclaimer: The above signature is executed solely against the specified BILL OF SUPPLY (i,e BS23-24-0332) and is not intended for any other use or purpose.



Land cannot be considered to the constant of t

TEL: 91-080-40387777 FAX: 91-080-4038600

INFORMATICS PUBLISHING LIMITED

No.194, R.V.Road, Basavanagudi,

P.B.No.400, Bangalore - 560 004 WEBSITE: www.informaticsglobal.com RECEIPT No.: 691

DATE: 3-Jul-2023

Rajgad Institute of Management Research & Development - Pune

S No 32/2/12 to 16,

Opp. Dhankawadi Post Office,

Satara- Pune Road.

Pincode - 411043

We acknowledge with thanks the receipt of your payment towards

NEFT Cr-MAHBH23184390643-MAHB0000315-RAJGAD DNYANPEETH S R I M R D--/URGENT/SO-2024-00747

Cheque/DD No. : NEFT Cr-MAHBH23184390643

For INFORMATICS PUBLISHING LIMITED

Revenue Stamps Not Affixed Due to Non Availability

Authorized Signatory

Dated : 3-Jul-2023

Drawn On : I Not Applicable

Payable At :

Total Amount : 58,366.00

Product : J-Gate

(Cheques are subject to Realisation) (Rupees Fifty Eight Thousand Three Hundred Sixty Six Only.)

A PASSAGE TO KNOWLEDGE

Note: This is computer generated Receipt. No Signature is required.



PROFORMA INVOICE

Subscription Pvt. Ltd.

304, De-Elmas, Bldg, Sonawala Cross Road No 2, Goregaon E,Mumbai - 400063,

Tel: 9643 160 170,

Email: info@apexsubs.com, Invoice No: PI 23/000352

Date:03-Aug-2023

Expiry Date: Rates are valid for 30 days only.

Customer Code:2583

GSTN No: 27AAHCA5318F1ZU

Reference=

Billing Address:

The Principal -

Rajgad Dnyanpeeth's RAJGAD INSTITUTE OF MANAGEMENT RESEARCH & DEVELOPMENT (RIMRD)

Survey No.32/2/12, Opp. Dhankawadi Post Office, Dhankawadi

Pune - 411043, Maharashtra, India

Tel:.

Email: director@rimrd.org, rimrdlib@rediffmail.com

GSTN No:

Shipping Address:

Ms. Shreya Gaikwad - Librarian

Rajgad Dnyanpeeth's RAJGAD INSTITUTE OF MANAGEMENT RESEARCH & DEVELOPMENT (RIMRD)

Survey No.32/2/12, Dhankawadi,

Pune 411043

Maharashtra - India Tel: 8007049090

Email: rimrdlib@rediffmail.com

Sr	Title/Publisher	Code	Freq	Start Date	Online	Curr	Exn	Сору	GST	Basic	C Cost	Publish	er's Post	Total INR
				End Date	(Taxable)		Rate		Rs.	Rate	INR	Rate	INR	
			·											
1	Bima Quest - ISSN -0974 - 0791 National Insurance Academy Pune(1422)	8647	3	01-Jul-2023 30-Jun-2024		INR	1.00	1.00	0.00	250.00	250.00	0.00	0.00	250.00
2	Harvard Business Review - Print - ISSN -0974-3855 SCOPUS Harvard Business School Publishing(480)	771	6	01-Oct-2023 30-Sep-2024		INR	1.00	1.00	0.00	11,500.00	11,500.00	0.00	0.00	11,500.00
3	IUP Journal of Accounting Research and Audit Practices - ISSN -0972-690X	6578	4	01-Jul-2023 30-Jun-2024	0.00	INR	1.00	1.00	0.00	1,150.00	1,150.00	0.00	0.00	1,150.00
	The ICFAI University Press(55)		; +	; 		; +	; }	; 	; 	; 	; +	; 	; +	
4	The ICFAI University Press(55)	5328	4	01-Jul-2023 30-Jun-2024	$\alpha \alpha \alpha$	INR	1.00	1.00	0.00	1,150.00	1,150.00	0.00	0.00	1,150.00
5	IUP Journal of Marketing Management - ISSN -0972-6845 The ICFAI University Press(55)	2543	4	01-Jul-2023 30-Jun-2024		INR	1.00	1.00	0.00	1,150.00	1,150.00	0.00	0.00	1,150.00
6	IUP Journal of Organizational Behavior - ISSN -0972-687X The ICFAI University Press(55)	2541	4	01-Jul-2023 30-Jun-2024	0.00	INR	1.00	1.00	0.00	1,150.00	1,150.00	0.00	0.00	1,150.00
7	Management Accountant - ISSN - The Institute Of Cost Accountants Of India(165)	1458	12	01-Jan-2023 31-Dec-2023		INR	1.00	1.00	0.00	1,000.00	1,000.00	0.00	0.00	1,000.00
<u>-</u>	Total	s	37		0.00			, T	0.00		17,350.00	 	0.00	17,350.00
L											A	dd Publish	ers Postage	0.00
 I	AMOUNT IN	WORD	S : SE	VENTEEN	THOUSAN	ID TH	IREE H	IUNDR	ED FIFTY	RUPEES:		N	et Amount	17,350.00

Terms and Conditions:

- 1. Payment Terms: 100% Advance
- 2. A supplimentory bill will be raised if the prices are hiked / increased by the publisher.
- The subscripion period will be entered as per the publisher's policy
 Kindly send DD in favour of "APEX SUBSCRIPTION PVT. LTD" payable at mumbai.
- 5. This is a System generated invoice signature not required 6. PAN NO AAHCA5318F318F

The industry standard guidelines for delivery are as follows:

For weekly publications please allow up to two to four weeks for your first delivery For monthly publications please allow up to four to six weeks for your first delivery For bi-monthly publications please allow up to six to eight weeks for your first delivery For international Journals please allow up to ten to twelve weeks for your first delivery For Apex Subscription Pvt. Ltd

TDS Not Applicable - This invoice is for transfer of property in goods for consideration.

Account Name	Account No	Bank Name	IFSC Code	Branch	Account Type			Authorised Signatory
Apex Subscription Private Limited	02122320004035	HDFC Bank	HDFC0000212	Goregaon E	Current	Printed By:sarikaj	8/3/2023 1:56:20 PM	

Other Remarks

RAJGAD DNYANPEETH'S

RAJGAD INSTITUTE OF MANAGEMENT RESEARCH AND DEVELOPMENT

Affiliated to the Savitribai Phule Pune University, Recognized by DTE Govt. of Maharashtra, Approved by AICTE, New Delhi



Mrs. Swarupa Thopte Hon. Secretary

Mr. Sangram Thopte Hon.Executive President MLA, Bhor, Velha, Mulshi Mr. Anantrao Thopte
Hon. Founder President
Ex - Education Minister

Date: 04/07/2023

Ref: RD/RIMRD/2023-24 / 19 2_

Informatics Publishing Limited

194, R.V Road,

RIMRD

Basavanagudi

Bangalore - 560004

Sub: Supply of J-Gate e-Journal.

Dear Sir,

With reference to above, we are pleased to release our purchase order for supply of J-Gate e-journal against your IPL QTN-2023-24-00504 dated 26/05/2023 We accept your terms and conditions and agree to process payment as per payment terms in the quotation.

We herewith confirm that, our institute Rajgad Institute of Management Research & Development is recognized under Savitribai Phule Pune University. Copy of affiliation letter from University is enclosed herewith. We provide Degree Courses for Higher Education and GST is exempted as per Notification No. 2/2018-Central Tax (Rate).

Thanks & Regards,

For RAJGAD INSTITUTE OF MANAGEMENT RESEARCH & DEVELOPMENT

Dr. D. B. Bharati

DIRECTOR

encl: Copy of University affiliation

